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Sl. No.1
QBID:1007301

Given below are four sentences in jumbled order. Select the option that gives their correct

order.

(A) Bv inserting small sheets or strips of paper over passages that had to be re-written.
he utterly changed the outcome of the stories. bringing them unfailingly to a happy
ending.

(B) For this man. every story. novel or epic poem had to end happily.

(C) So. over the yvears, he devoted himself to re-writing the endings of some hundred or so
books 1n every concelvable language.

(D) He obviously couldnt bear tragic endings. nor for a storv to end on a sad or

melancholic note.

Choose the correct answer from the options given below :

(1) (B). (D). (C). (A)
(2) (A). (D). (C). (B)
(3) (B). (A). (C). (D)
(4) (A). (B). (C). (D)

(1) 1
(2) 2
(3) 3
4) 4




T=-Og ¥ Feleta =1 o=y e 27

(&) 3 =
B) = EE
(C) T HE
(D) =1 H=ig
()  Tamt =@fg

Hi= fou v faeal H § HeE 39FT ST R =4 i
(1) #Fad (A). (C). (D)
2) Fad (A). (O). (B)
(3) ¥4 (A). (B). (D)
4  Fa= (B). (C). D)
(1) 1
(2) 2

3) 3
(4) 4

1[Option ID=17901]
2[Option ID=17902]
3[Option ID=17903]
4[Option ID=17904]

Sl. No.2
QBID:1007302

Choose the correctly spelt word.

(1) Efarvescent (27 Efervescent

(3 Effervesent (4) Effervescent

(1) 1
(2) 2
(3) 3
4) 4

FTER AR FHAES & IERY F a1 F A1 75 Hal 2 7
(1)  H&Fd WGl § 3T TR F S=W0 § % THF 26l 2
@ == 3 sies F oo wRun SgER fomn s 2

(3) @ = W W A ATER FFAES & g9H Sl S 8

(4)  I59 3UEl F= F [GRR % B A ST SR AR Fil s A e E




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17905]
2[Option ID=17906]

3[Option ID=17907]
4[Option ID=17908]

Sl. No.3
QBID:1007303

Choose the correct sentence.

(1) He was entitled to a full refund
(3 He was entitled on a full refund
1) 1
(2) 2
(3) 3
(4) 4
= 5w fog e E
EXE N

EE

(2
(4)

T % 3 B A aEq G B A" B A

He was entitled for a full refund

He was entitled with a full refund

‘O3 % o9 =9 ° 9@ #0919 BT & 39 99 #ad &

IUUE FYA F AT °, A fou 0 fTwedt § 1 gen IugE S H 99 S

(1) = [ &R I gF g &

2 = I 3R I 5A o 2

(3)  ®uA L4l 7, o %o I 7o 2
(4)  wyF [ 7Ted 2, A e [ Ee 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17909]
2[Option ID=17910]

3[Option ID=17911]
4[Option ID=17912]

Sl. No.4




QBID:1007304

Match List T with List IT :

ListI Last II
(A) Apggressor (. One who doesnt believe 1n the
existence of God
(B) Anarchist (II) One who does something for pleasure
(C) Amateur (III) One who wishes to destroy all
governments
(D)  Atheist (IV) One who attacks first

Choose the correct answer from the options given below :

(1) (A)-(D). (By~(IT). (C)-(ILI). (D)-(IV)
(2) (A)-(IV). (B)-(III). (C)-(II). (D)-(I)
(3) (A)-(II). (B)-(I). (C)-(III). (D)-(IV)
(4) (A)-(IV). (B)-(I). (C)-(I1II). (D)-(IT)

(1) 1

(2) 2

(3) 3

(4) 4

fatia w19 % "oy # A @ F wE R Y

(&) faeim wez sH % fow g et @ wEe fE S 2
B) Ta=im g sAE * fow T swet = w2
(C) ‘g Sudt =R faeim g = W 2

(D) ‘=Y e S e weg s S A

(E) ‘Ofd’ 3uet & = o fasm e a9 o 2

e fou v famret A O ged 39gT I w0 WA i

() & (A). (B) ¥ (O)
(2)  FE (A). (B) 31 (E)
(3) A (B). (C) 3 (D)
@)  Faa (B). (C) 3 (E)
(1) 1
(2) 2

3) 3
(4) 4




1[Option ID=17913]
2[Option ID=17914]
3[Option ID=17915]
4[Option ID=17916]

Sl. No.5
QBID:1007305

Identify the correct passive voice of the following sentence.

The waiter filled the glasses with water.
(1) The glasses filled with water by the waiter

(2) The waiter was filled the glasses with water
3 The glasses were filled with water by the waiter
(4) The waiter were filled in the glasses by water
(1) 1
2) 2
(3) 3
(4) 4
Tf1-1 % A1 1 gei-11 faes it
- LI
(A) T O sg
(B) =hHel (ID dwr
(C) =ig (IIT) =3
(D) g (IV) i

= feu U fawedi 5 O OE 39 F 999 i

(1) (A)-(IV). (B)-(ID). (C)-(I1D). (D)-(I)
(2) (A)-(D). (B)-(D). (O)-(I1D). (D)-(IV)
(3) (A)-(IID), (B)-IV). (C)-(D). (D)-(II)
(4) (A)-(IV). (B)-(II). (C)-(I). (D)-(I1I)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17917]
2[Option ID=17918]

3[Option ID=17919]
4[Option ID=17920]

Sl. No.6
QBID:1007306




From among the four options given. choose the pair of words that are antonyms of each other

(1)
(3)
(1) 1
(2) 2
(3) 3
(4) 4

foresight: blindness (2) wiable: feasible

judicious: silly (4) welfare: comfort

TefeafEa 7 TG Jd-1 9T e & -

(1)
(3)

(1) 1
(2) 2
(3) 3
4) 4

EEECrot (2) FsEd

Faodd (4) a9

1[Option ID=17921]
2[Option ID=17922]
3[Option ID=17923]
4[Option ID=17924]

Sl. No.7

QBID:1007307

Identify the correct indirect narration for the following sentences

He said to her. “What a cold day!”

(1)
(2)
(3)
(4)

1) 1
(2) 2
3) 3
(4) 4

He told her that it was a cold day
He exclaimed that 1t was a very cold day

He exclaimed sorrowfully that 1s was a cold day

He exclaimed that 1t was a cold day




Frefefian & g T 2 -

(&) v T SEE WA o e
(B)  T=W e 93 UEE T8 A

(C)  F9 W W A fil FH |

(D) A ® T gH EREATYS il 2l
(E) i = g3 HieH 78 2

= fou T ot § O = I o = Fit
(1)  Fad (A). (C) 317 (B)
(2)  Fad (A), (B) R (D)
(3)  Fad (B), (C) =R (D)
(4)  =ae (C). (D) 311 (E)
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=17925]
2[Option ID=17926]
3[Option ID=17927]
4[Option ID=17928]

Sl. No.8
QBID:1007308

Which of the following 1s a one-word substitute for ‘one who cuts precious stones™?
(1) Lapidist {2y Milliner
(3) Glazier (4) Farrier
(1)
(2)

(3)
(4)

A W N =




-1 % =1y =1 geAi-11 e it

il | il
(A) =9 @H T (I) et
(B) A @ F dre (I1) wus
(C) w5 & |HM SAT@l aredl (IIT) fre=afi
(D) Hoel = GEE AT are (IV) Toam=rd

= fou U feeal 0 O wE 39 1 =99 i

(1) (A)-(IV). (B)-(IID), (C)-(II). (D)-(I)
(2) (A)-(I1I). (B)-(IV). (C)-(I). (D)-(IT)
(3) (A)-(IT). (B)-(III). (C)-(IV). (D)-(I)
@  (A)-D. (B)-ID, (C)-). (D)-IV)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=17929]
2[Option ID=17930]
3[Option ID=17931]
4[Option ID=17932]

Sl. No.9
QBID:1007309

Choose a word which means "essential’.

(1) dispensable (2) crucial

(3) 1nitiative (4) umimportant

(1)
(2)
(3)
(4)

A W N =




-1 =1 =1 gAi-11 o it

-1 -1
(&) 3 F T = (D) e
(B) T T g¥HA (I) Tl = 390 W =e
(C) =g T (ITT) SEg S &
(D) el T AT V) 7@ =afw
i Tou U faheat § 9 =99 3 1 =999 Fie

(1) (A)-IV), (B)-(IID), (O)-(ID), (D)-(D)
(2) (A)-(IID), (B)-(IV). (C)-(D. (D)-(II)
(3) (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
@) (A)ID). (B)-(III). (C)-IV). (D)-(D)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17933]
2[Option ID=17934]

3[Option ID=17935]
4[Option ID=17936]

Sl. No.10
QBID:1007310

Choose a word which means “to avoid confrontation and anger’.

(1) Arduous (2) Evolution
(3) Emollient (4) Swollen
1) 1

(2) 2

(3) 3

(4) 4




e} =1 HEETA -
(A) HIIde

(B) Gl

(€ 4

(D) wEEE

+i= Tou T fahedl § @ B9 S9ET ST 1 =4 I

(1) F=4 @A)
(2) Fa= (B)
(3) ¥ (B) 3R (C) i
4  Fad (D)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17937]
2[Option ID=17938]

3[Option ID=17939]
4[Option ID=17940]

Sl. No.11
QBID:1007311

Who has been re-elected for the 4% time as the Prime Minister of Hungary?
(1) Viktor Orban {2y  EKiril Petkov

(3) Olaf Scholz (4) Gabriel Boric
(1) 1
(2) 2

3) 3
(4) 4

I T T = aw T T g e

(1) ]%TE"T _jﬁiﬂ (2) i'.fFur.Il:Fl “]F‘_t_q?ﬂ? =
(3)  #EE wed A ao
1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=17941]
2[Option ID=17942]
3[Option ID=17943]
4[Option ID=17944]

Sl. No.12
QBID:1007312

Indian team comprising Chirag Shetty, Satwiksaira] Rankireddy. Lakshva Sen and
K. Srikanth created history by winning the Thomas Cup title for the first time after defeating
14 times Thomas Cup champion ——— by 3 - 0.

(1) Malaysia (2) Chinese Taipel
(3) Thailand (4) Indonesia

1) 1
(2) 2
(3) 3
(4) 4

e 91, wnfeers s RS, S5 B9 ¥R 6. A ® T 9WAE 2 A 14— S 9imE e A —
, 79 1 3-0 ° T T TR AW U7 F9 Haw sioes =)

(1) oo (2) =T aEE
(3) MEeAUs (4) =SHEPEET
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=17945]
2[Option ID=17946]
3[Option ID=17947]
4[Option ID=17948]

Sl. No.13
QBID:1007313

Who has become the first Indian welghthifter to have won a gold at IWF Junior
Championships that was organized in Heraklion?

(1) Achinta Sheuli (2) Harshada Sharad Garud
(3) WV Rithika (4) Gyvaneshwar1 Yadav

(1) 1

(2) 2

(3) 3

(4) 4




FfFaT § STANT 55 9 $eeg UF JHEE A0 | W 9gE A aen 999 9EdaE deierrel wiH

g_n‘;'
(1) =A== e (2) =YE T TES
(3) i fifge (4) FHTSH AR
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=17949]
2[Option ID=17950]
3[Option ID=17951]
4[Option ID=17952]

Sl. No.14
QBID:1007314

According to the World Bank. India has surpassed
recelving country in 2021?

(1) Mexico (2) China
(3) Brazil (4y Japan
(1) 1

(2) 2

(3) 3
(4) 4

Tava &% % AT9E 99 2021 H 9N 39 99-T90 WHHGT 5o 5 F

as the top remittance

ST B T 27

(1)  =fFa=s (2) =M
(3)  FEE (4) =
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=17953]
2[Option ID=17954]
3[Option ID=17955]
4[Option ID=17956]

Sl. No.15
QBID:1007315




According to the Union Budget from which government sector has the maximum number of
recelpts?
(1) Income Tax (2) Non-Debt Capital Receipts
(3) Borrowing and other habilities (4) Customs
1) 1
(2) 2

3) 3
(4) 4

F51 2 H ATAR TR I G a0 W i w5 A ¢

(1)  =TFH (2)  TE-For I WA
(3) A Ud 3= oHam (4) 1 e

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=17957]
2[Option ID=17958]
3[Option ID=17959]
4[Option ID=17960]

Sl. No.16
QBID:1007316

Match List I with Tast IT :

List I List IT
(A} Author )  Artist
(By Actor (ITy Performer
(C) Painter (IIT) Scholar
(D) Researcher (IV) Narrator

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(II). (C)-(I). (D)-(III)
(2) (A)(IIT). (B)-(II). (C)-(I). (D)-(IV)
(3) (A)-(IV). (B)-(I). (C)-(II). (D)-(IIT)
(4) (A)-(IIT). (B)-(I). (C)(II). (D)-(IV)

(1)
(2)
(3)
(4)

P W N R




T=1-1 % =y g=t-10 1 faerm Fifsm

(A)
(B)
(C)
(D)

49 fou o faweni § 9 v 3w =9 Fife

Y
(2)
(3)
(4)

(1) 1
(2) 2
3) 3
(4) 4

-1

(A)-(IV). (B)-(II). (C)-(I), (D)-(IIT)
(A)-(III). (B)-(II). (C)-(I). (D)-(IV)
(A)-(IV). (B)-(I). (C)-(IT), (D)-(IIT)
(A)-(III). (B)-(I). (C)-(IT). (D)-(IV)

1[Option ID=17961]
2[Option ID=17962]
3[Option ID=17963]
4[Option ID=17964]

TEl-11
() FeATHR
(II) wR=ATaT (qsTe )
(IIT) TagH
(IV) =il

Sl. No.17

QBID:1007317




Six statements are given below. put all in a specific order. Choose the rght argument
containing logically related statements that i1s. where the third statement is a conclusion
drawn from the preceeding two statements :

(A) All dolls are tovs.

(B) Some tovs are pencils

(C) Some pencils are dolls

(D) Some toyvs are not dolls

(E) All tovs are pencils

(F) No tovs are pencils

Choose the correct answer from the options given below :

(1) (B). (C). (D)
(2) (E). (A). (O)
(3) (A). (B). (C)
(4) (E). (D). (C)
(1) 1
(2) 2

3) 3
(4) 4




= B wua for o B 3% v fAfvea #9 9 omsv) 9E o w6 9Ee Fitae g adel e 9 ety
(A) = ST e #

(B) F9 e = 2

(C) o ufEe TEAm 7

(E) =R Tt dfae 3

(F) =iz it figeimn dee T4 21

4= TGu v [mEea 5§ HEl I #1999 S
(1)  (B). (). (D)
(2) (E). (A). (C)
(3) {A). (B). (C)
(4) (E). (D). (C)

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=17965]
2[Option ID=17966]
3[Option ID=17967]
4[Option ID=17968]

Sl. No.18
QBID:1007318

If FACULTY 12 YTLUCAF and PAPERS are SREPAP: then STATEMENTS are

(1) STMETANETS (2y SNTEMETATS
(3) STNEMETATS (4y SMETANETST
(1) 1
(2) 2
3) 3

(4) 4




gfe FACULTY # YTLUCAF fomar =1 2 3n PAPERS # SREPAP o1 =1 & @i
STATEMENTS =1 947 fomar =mom 7

(1) STMETANETS (2) SNTEMETATS
(3) STNEMETATS (4) SMETANETST

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17969]
2[Option ID=17970]

3[Option ID=17971]
4[Option ID=17972]

Sl. No.19
QBID:1007319

Six statements are given below: put all in a specific order. Choose the right argument
containing logically related statements that 1s. where the third statement 1s conclusion drawn

from the preceding two statements.

(A) Frogs are mammals.

(B) Some mammals are butterflies
(C) Frogs are butterflies

(D) Some frogs are butterflies

(E) Some frogs are not butterflies

(F) No frog 1s butterfly

Choose the correct answer from the options given below :

(1) (B). (F). (D)
(2) (A). (C). (E)
(3) (A). (D). (B)
(4) (B). (4). (C)
(1) 1
(2) 2

3) 3
(4) 4




A2 3 Fo e e B A R o Giffea w4 ) bl on 8 seiun we O wh o B o
Fifaw, w320 = dE0 FY Hq9H ghadi 51 YA F FeRd ° e w2

(A)  Te® =AaE EE 7

(B)  F9 wH9El faateEl 2

(C)  We faafa 7

(D) T3 Uk foafeEl 7 2

(F) == i g faqa=i 74 2|

4 feu v faFeat § ° 9F1 3 #1999 Fie
(1) (B). (F). (D)
(2) (A). (C). (E)
(3) (A). (D). (B)
(4) (B). (A). (C)

(1) 1
2) 2
3) 3
(4) 4
1[Option ID=17973]
2[Option ID=17974]

3[Option ID=17975]
4[Option ID=17976]

Sl. No.20
QBID:1007320




Given below are two statements :

Statement I :  Honesty 1s the best way to healthy life: exercise 1s secondary means.

Statement II :  Exercise 1s the best way to healthy life; Honesty 1n exercise 1s must.

In the hight of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II is false

(4) Statement I 1s false but Statement II 1s true

(1) 1
(2) 2
3) 3
(4) 4

= 71 e foo o E

FoA 1 =Y e # 0 SaE T SHEER 2| SEEE T 3 2

T I1: =5 A 1 " T m‘j‘q%;—w ¥ THFEH SEvEE B
IHIF FYA 5 AEE 5, A= 58 T el § W 5 I I % =5 I

(1) w3 Il o9 2
(2) woa 3R IS #1594 &
(3) wua 190 2, @ %94 I 790 7

(4) =99 ] 575 &, wifed $o9 [ o039 7

(1) 1
2) 2
3) 3




(4) 4

1[Option ID=17977]
2[Option ID=17978]
3[Option ID=17979]
4[Option ID=17980]

Sl. No.21
QBID:1007321

Consider the system of linear equation x + 2y =10 ; 3x + ky = 15 then which of the following
1s/are correct
(A) For k = 6 the system will have unique solution.

(B) For k = 6 the system will have infinitely many solutions.

(C) There 1s no value of k so that the system has no solution.
(D) The system 1s not consistent at all.
(E) The svstem 1s always consistent.

Choose the correct answer from the options given below :

(1) (A). (O). (E) only
(2) (A). (B). (E) only
(3) (B). (C). (D) only
(4) (C). (D). (E) only

(1) 1
(2) 2
(3) 3
4) 4




OH S x4+ 2y =10, 3x + ky =15 UF Thg® GHE F o9 7| A9 G ™ IOH ° ®H F 95
(A) k=6 % [oU 99 F TH Fa4 UF 74 7

(B) k=67F a0 F TH I = 2

(C) ki =i i a9 van 981 2 5 79 % 9\ #5999 2

(D) 7= F o gE T 2

(E) o= =90 a7 7|

ﬁ?hﬂwmﬂﬂﬂﬁWﬁWﬁﬁW
(1)  Fa= (A). (0). (E)
(2)  ad (A). (B). (B)
(3)  FA=(B). (C). (D)
4y  FaA(C). (D). (E)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17981]
2[Option ID=17982]

3[Option ID=17983]
4[Option ID=17984]

Sl. No.22
QBID:1007322
3 "Ee 3
The value of [ ﬁmfli_?g} [ 3 39} 1s
(1) 21 (2y 243
(3) L 4y 729
1) 1
2) 2
(3) 3

(4) 4




&

{5 | [R5 |
][]

(1) 81 (2) 243
(3) 27 (4) 729

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17985]
2[Option ID=17986]

3[Option ID=17987]
4[Option ID=17988]

Sl. No.23
QBID:1007323

A number x 1s chosen at random from the numbers —3. —-2. -1, 0. 1. 2. What 1s the probability
that x* < 47

(1) ¥ £2) ¢
(3) % 4 1
(1) 1
(2) 2
3) 3
(4) 4

TEmE -3, 2. -1, 0. 1. 29 ¥ uF W x ARIw IH Il B2l a7 < 4 T arEfwa w0 2 e

(1) ¥ (2) 3
(3) % 4 1
1) 1
(2) 2
3) 3
4) 4

1[Option ID=17989]
2[Option ID=17990]
3[Option ID=17991]
4[Option ID=17992]

Sl. No.24
QBID:1007324




For which value of b the quadratic equation x> + bx + 4 = 0 has real =olution

(1) b=4b=-4
(2) b4 b=-4
(3) b>4b<-4

(4) there 1s no values of b so that it has real solution

1) 1
(2) 2
(3) 3
(4) 4

b = T4 O =+ Tou fgaria adir x° + bx + 4 = 0 F1 T arai=® 7 2|

(1 b=4b=-4 (2) bz4.b=-4

(3) bzd4b<-4 (4) b T EE AE A A

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=17993]
2[Option ID=17994]

3[Option ID=17995]
4[Option ID=17996]

Sl. No.25
QBID:1007325

If « and F are the zeors of the quadratic polynomial f(x}=,!ax2 +4x + 8 such that

a® + B =16 then the values of k are

(1 Y D ()
} 72 % 2 2
, 1-45 1++5 I T O
(3) , (4) _ .
2 2 2 2
(1) 1
(2) 2
(3) 3

(4) 4




MG o @ B fgarda 2w flx) = kx® + 4x + 8 F YA 2 AF o° + B° =16 79 k =1 °H 201 :

= = : —1—'\-'{5 1—'\-"'5
(1) 5/ 5/ (2) :
a7 2 2
N T N T (R W
{3} 1 “’uﬂ,l x5 {4} 1. x:tll I Ao
2 2 2 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=17997]
2[Option ID=17998]

3[Option ID=17999]
4[Option ID=18000]

Sl. No.26
QBID:1051001

i gaTEe e sfae wafd -

(1) FT=hIETH (2) hIe:
(3) e (4) w4
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=18301]

2[Option ID=18302]

3[Option ID=18303]
4[Option ID=18304]

SI. No.27
QBID:1051002

WfeaehesE 9 wafa -
(1) =mEesem (2) drgesHy
(3)  UldeseieyTy (4) TEEIE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=18305]
2[Option ID=18306]

3[Option ID=18307]
4[Option ID=18308]

Sl. No.28
QBID:1051003




v
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